o(d dxy) (cm)

=
<

Rati

0.954

1

2

o(d dz) (cm)

1072

_-IP """""" 3 B B Y
S S = B B (LI RO
. . . L 3 . X
E &
. - H X
6‘06% L 1 L | [ P

Rati

0.950

-2

-1

M~V0001~]|

VI VUUUT ROUOUQUDUUUT G
~R000000001—Global—mKFi
M—V0001~R000000001Global—mKkFit~
M—V0001~R000000001—Global—mKFit_batch32
M_V0001_R000000001 _Global

fobal

lobal_mkFit_NObatch

MKEIT_NOeval
batch
mkFit_batch64

o(d @) (rad)

[
<
N

-

03 _ ......... e

O.LUUIIII

gt
@

0.95

0

1

2

3

TP ® (PCA to beamline)

1 .

ot:vo

Rati

0.95

0

1

2

3

TP ® (PCA to beamline)



	Contents
	Page 1


